ffg\ eco
7)) | pass
PORT. :hager

Product Environmental Profile
Current Transformer CT SC1 18mm 100/5A 0.2VA Cl.1

Company information References covered

Hager SRR00635A; SRRO0805A; SRRO1005A; SRR01255A; SRRO1605A; SRR02005A; SRR02505A;
132 Boulevard d’Europe SRR04005B; SRR05005B

F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Transform the primary current to a more usable secondary current for measurement during 20 years.
SRR01005A

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the
3.15.1 Other Equipment passive continuous reference product.

PEP ecopassport 1/5 HAGE-01350-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics

%

Metals

g

%

Others

%

PVC 62.36 16.1% Steel 171.06 44.1% Glass 12.42 3.2%
PA66 48.27 12.4% Copper 60.14 15.5% Wood 9.24 2.4%
PE-LD 1.85 0.5% Stainless steel 5.60 1.4% Cardboard 7.40 1.9%
PE-HD 1.50 0.4% Tin 1.20 0.3% Melamine cyanurate 6.46 1.7%
PE-LD 0.41 0.1%
Epoxy resin 0.34 <0.1%

Total mass of reference product with raw material

packaging : SEE

Total mass of reference product

(Product + packaging) 369.75 9

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from “cradle to grave".

Manufacturing Distribution Installation Use End of life Module D
j=2}
£
- ©° 7]
S 2 = z 3 2
c E] £ c @ 3 © I
o k=) = = u— 5 = = S = o
= < S S o3z =1 7] > o »
So| 5 o E c & c= o S = | €8 <3
£< = g 235 S3 S8 8 g < 28| 28 s g | o8 88
< 0 [ = c T @ [ Is] I c & = IS 7S - =2
R e 5 52 cQ c = = S =1 oz T = T £ 5 2 < T £
-8 3 =] 8o 2= I ‘g 5 8 E® gD = S © g > a S g
[ (o} = T S Q [=X S [0} Qo o M
= 9 < 8 2o T o a5 i) [ 8 2 £9 ] 5 a5 5 2 3 o 2
Qa5 - =} T © T O © T = 4 - 7] 33 =1 c © 3 N o >
= o c = [=% 3 £ T QL - =
S 5 =2 3 5 & B @ 5 2 8 15 kA T S 3 S 2 g9 a 50
EE £ s [l £a o= = o4 °s o £ o ’—§ ge c g
5] 5} 7] > )
% 2 < < =1 < 2 o T 0 “3'8
o = = = 2 Y £ o3 S
>
g i = =2 3
J2] o
2
o

Life cycle stages

Distribution

Manufacturing

These products are manufactured by a site that has received an environmental
certification ISO 14001.

The packaging has been designed in accordance with current regulations. In
particular, the European directive 94/62/CE relative to packaging and packaging
waste.

This phase takes into account raw materials, manufacturing processes, production
offcuts and their end-of-life treatment, upstream transport of materials and sub-
assemblies to the manufacturing site, and transport from the manufacturing site to the
final logistics platform.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their
impact.

This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.
Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Use

Power loss / load dependent Power consumption / not load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0.1314 100% 0 0% 0 100% 0 0% 0 0%
This corresponds to a total energy consumption of 23.02 kwWh for the use span of 20 years.
Energy model of the use phase :
Europe
Consumables and maintenance :
None
PEP ecopassport 2/5 HAGE-01350-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 59%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.2.5-6 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

Al-A3 A4 A5 C1-C4
Europe Europe Europe Europe

Environmental impact indicators

. ; Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALAE P | e | BET | e | GLOBAL ‘ Module D
Acidification (PEF-AP) mole H+ eq. 1.90E-02 4.13E-04 0.00E+00 4.87E-02 2.37E-03 7.05E-02 -1.29E-02
Climate change - Total (PEF-GWP) kg CO2 eq. 2.14E+00 6.52E-02 0.00E+00 9.31E+00 4.58E-01 1.20E+01 5.06E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. 5.41E-03 0.00E+00 0.00E+00 2.06E-01 6.76E-02 2.79E-01 4.89E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 2.14E+00 6.52E-02 0.00E+00 9.10E+00 3.90E-01 1.17E+01 4.57E-02
Climate change-Land use and land use kg CO2 2.63E-08 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.63E-08 0.00E+00
change (PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) 8.73E+02 4.27E-02 0.00E+00 1.39E+01 2.88E+00 8.90E+02 -1.05E+00
EF-particulate Matter (PEF-PM) 1.20E-07 3.36E-09 0.00E+00 3.81E-07 1.35E-08 5.18E-07 -1.74E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 6.44E-05 2.45E-08 0.00E+00 2.23E-05 5.48E-06 9.22E-05 -1.36E-03
Eutrophication, marine (PEF-Epm) kg N eq. 1.56E-03 1.94E-04 0.00E+00 5.70E-03 1.18E-03 8.63E-03 -4.66E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 1.64E-02 2.12E-03 0.00E+00 9.14E-02 3.57E-03 1.13E-01 -6.19E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 8.27E-09 1.15E-12 0.00E+00 1.15E-09 3.30E-10 9.75E-09 -1.47E-09
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 1.39E-07 2.22E-11 0.00E+00 2.73E-08 1.51E-08 1.81E-07 -1.54E-07
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 9.36E+00 1.59E-04 0.00E+00 1.22E+01 1.66E-02 2.16E+01 9.44E-03
Land use (PEF-LU) 1.71E-01 0.00E+00 0.00E+00 2.47E-01 6.95E-01 1.11E+00 -1.23E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.96E-07 1.00E-10 0.00E+00 3.99E-08 2.79E-08 2.64E-07 1.29E-08
Photochemical ozone formation - human
health (PEF-POCP) kg of NMVOC eq. 6.49E-03 5.36E-04 0.00E+00 1.81E-02 9.64E-04 2.61E-02 -1.77E-03
Resource use, fossils (PEF-ADP) 8.59E+01 9.10E-01 0.00E+00 2.23E+02 3.54E+00 3.14E+02 1.41E+00
SIS O, ISR S G 1.22E-04 2.57E-09 0.00E+00 3.02E-06 -1.33E-07 1.25E-04 -3.87E-05
(PEF-ADPe)
Water use (PEF-WU) . 1.01E+00 2.48E-04 0.00E+00 7.05E-01 7.49E+01 7.66E+01 -5.69E+01
Resource use indicators

q " Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALAS ’ " ’ AG ’ B1B7 ’ cica | GLOBAL | Module D
Net use of fresh water m3 2.36E-02 5.77E-06 0.00E+00 1.65E-02 2.10E+00 2.14E+00 -1.06E+00
Total primary energy - 8.67E+01 9.11E-01 0.00E+00 2.75E+02 3.91E+00 3.67E+02 1.34E+00
Total non renewable primary energy - 8.59E+01 9.10E-01 0.00E+00 2.23E+02 3.54E+00 3.14E+02 1.41E+00
Total renewable primary energy - 7.92E-01 1.21E-03 0.00E+00 5.23E+01 3.62E-01 5.34E+01 -7.21E-02
Non renewable primary energy used as energy 8.20E+01 9.10E-01 0.00E+00 2.23E+02 3.54E+00 3.10E+02 1.41E+00
ﬁ‘;’t‘ef;ewab'e primary energy used as raw 3.90E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.90E+00 0.00E+00
Use of non renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 4.83E-01 1.21E-03 0.00E+00 5.23E+01 3.62E-01 5.31E+01 -7.21E-02
ii’t‘eeri‘”;b‘e primary energy used asraw 3.09E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.09E-01 0.00E+00
Use of renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01350-V01.01-EN



Waste category indicators

Ticheaens Manufacturlng| Distribution | Installation | Use | End Of Life | GLOBAL

Al-A3 Ad A5 Cl-C4
Hazardous waste disposed 4.50E+00 0.00E+00 0.00E+00 2.57E-01 -6.93E-03 4.75E+00 8.96E-20
Non hazardous waste disposed 3.67E-01 2.29E-03 0.00E+00 1.40E+00 9.15E-02 1.86E+00 3.03E-19
Radioactive waste disposed 2.27E-04 1.63E-06 0.00E+00 3.31E-04 2.25E-06 5.61E-04 0.00E+00

Output flow indicators

indicators Al-A3 Ad A5 Cl-C4

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 3.11E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.11E-03 0.00E+00

Manufacturlng| Distribution | Installation | Use | End Of Life | GLOBAL

Materials for energy recovery 4.22E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.22E-03 0.00E+00

Materials for recycling 6.43E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.43E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
7.40E-03 0.00E+00 9.24E-03 1.66E-02
2.07E-03 0.00E+00 3.65E-03 5.72E-03
2.07E-03 0.00E+00 3.65E-03 5.72E-03
ADEME APESA/RECORD EN 16485
ardboard Pape ood
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

. . Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°:  HAGE-01350-V01.01-EN
Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH36 Information and reference documents: www.pep-ecopassport.org
Date of issue: 3-2025 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ..., real values for a product
in a concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01350-V01.01-EN



Appendix

- [mole H+ eq.]
shwater (PEF-CTUe) - [CTUe]
-cancer (PEF-CTUh-nc) - [CTUh]
nary energy - [MJ]

nd use (PEF-LU)
mary energy used as raw material - [MJ]

terrestrial (PEF-Ept) - [mole of N eq.]

Exported energy - [MJ]
n, human health (PEF-IR) - [kg Bq U235 eq.]
Materials for recycling - [kg]
Net use of fresh water - [m3]

(PEF-ADPe) - [kg Sb eq]

Components for re-use - [kg]
Hazardous waste disposed - [kg]

Water use (PEF-WU) - [m3 eq.]

Materials for energy recovery - [kg]
Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, fossils (PEF-ADP) - [MJ]
Resource use, minerals and metals
Use of secondary material - [kg]

Use of renewable secondary fuels - [MJ]

o
<
u
W
o
=
=3
w
2
3
S
<

newable primary energy used as energy - [MJ]
Total non renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]

Ecotoxicity, fr
Eutrophication, marine (PEF-Epm) - [kg N eq.]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPS) - [kg CO2 eq.]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Non renewable primary energy used as energy - [M.
Renewable primary energy used as raw mate

Human toxicity, ni

Eutrophication,
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Non renewable pr

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

oM

c < TN ocoz| 26e.00| ssseon| 2aeeico| zeseon| oooeeoo| arseuce| saseos| ssoeos| saseor| sareos| asoeion| sareoo| ssoer| osseoo| sreos| szzeos| sasor| zssee| ssreon| soeics| ssoeion| soseor| szoeor| saseos| zareor| easeon| soseo| asseicn| 12seos asseior| seren| 7o2e0s| oooeeco| ocotco sveion| 1oreico

54

= a

2 < SR 1202 215mi00| osseon| 2smwoo| aze0s| oovmwo| arieice| 2oneos| ssomos| aneoe| sureos| rsseion| 7reoo| ssseos| 2rmeoo| suseoe| azeos| soreon| sosece| siseon| wsieios| sooeon| sroeor| sveecs| saneon| 2sseor| 2omeor| suos| ssveior| voreos| ssvean| osnon| soees| oooeion| ocomo| oaneian| sonean

]

i

5 LTI sz 20e.00| sieon] 2zoeuco| szseon| oooeool arseuce| saseos| ssacos| ssieoe| saseos| oseicn| vareoo| sszeos| ssseon| Tar602| ssieos| soror| ssser| seron| sozeics| ssoeeon| saocor| aseeon| saseon| preeor| ssseor| saseor| osiecr| oasos| ssieior| sssen| saseo| oooeeco| oooof osveion| sscear

[=

g SRR 2ocoz| 2useeoo| 7250 2ureoo| 20| oooeeoo srageoz| 2soeos| ssoeos| oaeoa| ssaros saseoo| saseo| soror| riseeos| zoseor| azmeos| ozor| 2sor| srson| saseeos| soveoo| zozeor| saseor| soros| zazor| saseor| ssuosr| soseios| 1sor| soseios| sr3ei0s| sseo| oooeoo| oooeco| oooecof 1oveico
ST eocoz| 22reuco| ssseos| 2zsco| 2aze0n| oooeool arseuce| soneos| soreos| soseoe| ssovos| sseicn| ssseoo| ssapor| seseioo] ssopor| serecs| vaseor| zssee| ssaeon| soseios| ssoeeon| soscor| siseor| soseos| 2aseor| eszeon| saseor| osseicn| saogo| ssseion| ssien| raseos| oooeeco| ocotco sveion| 1ozeico
ST 22002 2sseva0| nsieos| 2simwoo| ssoeon| ool arseice| woseos| soveos| rueoe| saseos| somion| vaneoo| sromer| veon| zaseor| ssieos| roeon| zviece| son asseios| ssien| zoseor| ssseor| 7izeon| 2soror| siseon| swocos| ssrecn| seso| ssren| senen| ssee| oooeion| ooomo aveian| 12zeoo
ST - ooz 20muc0| a5z 2oeico| sszeon| oooeool arseuce| soseos| srseos| saseos| ssovos| eseicn| oareoo| zosear| 1reon| zoreos| anseos| vaseor| sizece| cooeon| szseics| sssecn| 2areon| ssieor| vaogos| sereor| roseon| sareos| sseecs| soreoa ssseios| arseon| soseico| oooeuco| oootco sveion| 1sseico
SR 2esc oz 2osevao| 2oreoz| 2omewo| 7s6eon| oovo| arseice| nsoeon| soamos| roeoe| soseos| raseios| vsmoo| 2rsmer| 2sion| wseos| ssieos| saron| sssece| saseon| arseios| seven| wweor| srrecr| vaseon| 2sseor| vazeor| soseor| rirecn| 2oceoa| 7ureian| 7areon| saseico| ovoeion| ooomo uveian| 1ezeoo
G soseoz| 2azeu00| 2sicoz| 2a0mio| sareon| oooeoo| asoeice| sereos| soveos| saieoe| saseos| soeics| soreoo| soorar| zareon| esseor| szieos| ssovor| soree| esreon| ssseics| ssseion| 2ereon| ssseor| vsseos| zsoroe| voseco| saocos| razeucs| 2sogoa 7zzeicr| 7aseon| sseicof oooeico| oootco sveion| 1eseico

c <

S < ST o0 eseee| oooeioo| ss2eoz oooeeon| oooewo s2ree| zaseon| ssamos| 2ize0s| ooomwo| ovoeion| 1sse e 2zeeas| 1sseos| aoomwo| oooeion| vovwo| srrecs| 2aseos| sioma| ooneon| soveof sseecs| saneo| ssseas| 12103 aomo| sicear| 2o ssoear| vsieon| seres| oooeion| ocomo| ooneion| 2aseon

=

a LRI <ococ| ssreaz| oooeioo| ssreoz] ooneuon| oooeoo| ssece| 2sseos| ssoros| zoneos| ooocoo| opoeucn| 1szesz zureas| sseor] ool oooeuoo| ooocioo| ssses| 2aseos| worean| ooneeoo| saveas| szseos| saseo| ssoros| 16e0s) cooeio| asiear| 2seoo| wosear| sszeos| saseos| oooeeco| ococof mveion| 2ezeod

B

1) SGUENTNI soreos| esizae| oooeoo| suaeoz oooeeon| oovewo| sz0mcz| 2areos| soreos| 2one0s| ooomwo| ovoeion| 1sse e 2sveas| 1sseos| aoomwo| oooeion| vovewo| soseos| zaseos| ssea| ooneon| saies| ssieos| sereo| sooros| 11603 aomo| wsseor| 2o wssear| soveon| sses| oooeion| ocomo| ooneian| zaseos
SGPEETNIN ioc 0| ssoraz| oooeioo| ssoroz| oooeuon| oooeoo| sssece| zaseos| ssseos| 2iseos) oooeof opoeucn| saseaz 2zseas| sieor] aooeicof oooeuoo| oooeioo| ssseos| 2szeos| sasea| oooeeon| soreof sereos| seseor| soseos| 1ase0s| aooeio| azsear| 2sooo| szsear| oaseon| saseas| oooeeco| ococo| sveion| zsieod
ST 21| eoemz| oooeioo| soizoe ooneeon| ooomwo sssez| 2aseos| ssreos| 2i7e0s| ooomwo| ovoeion| 17 e 2z6eas| 1azeos| aoomwo| oooeion| vovwo| ssseos| 2seos| serean| ooneon| soze | sszecs| saceo| soseos| 1aie0s| avomo| serear| 2azeon| serean| vaseon| 1w oooeion| ooomo| oaneian| 2ezeon
ST <o ssoeaz| oooeioo| ssocos| ooneuon| oooeoo ssece| 2sseos| zoseos| 2aseos| oooeof osoeucn| satese 2saeas| sseor] aoowof oooeuoo| ooocoo| sioes| 2ezeos| ssrean| ooneeon| soseof ssseos| saseor| sr2eos| 1asecs| cooeio| aszear| 2meoo| sszear| osseor| saseos| oooeuco| oootco| sveion| zezeod
ST o 7osez| oooeioo| 700z ooneeon| oovwo| ssecz| zeseon| 210mos| 2a0e0s| ooomwo| ovoeion| 12 e 2omas| 17201 aoomwo| oooeion| vovo| szseos| zaseos| ssse| ooneon| sose | soseos| sareos| s7reos| 13203 aomo| ssseor| 2rmeoo| ssseor| vameon| 12| oooeion| ocomo| ouneion| zeseon
IR cococ| ssreaz| oooeioo| ssreoz ooneuon| oooeoo ssece| 2sseos| ssoros| zoneos| oooeoof opoeuon| 1szesz zureas| sseor] oo oooeuoo| ooocioo| ssses| 2aseos| worean| oooeeon| saoeas| szseos| saseor| ssoros| 16e0s| cooeio| asiear| 2seoo| wssear| ssueos| saseos| oooeeco| ococof mveion| 2ezeod
S im0 eseee| oooeioo| ss2eoz oooeeon| oovewo| sorez| zaseon| ssamos| 2ize0s| ooomwo| ovoeion| 1ise e 2zeeas| 1sseos| aoomwo| oooeion| vovwo| srrecs| 2aseos| siomas| ooneon| soveof sseecs| saneo| soseos| 12ie0s| aomco| sicear| 2o ssvear| vsieon| seres| oooeion| ocomo| oaneion| 2aseos

cwn

S < SRROL005A [ e e e B e e B I I I T I [ [ e [ e e ) e B e e I I e I e ) e e e

®

= SR 0000 o0evao| 000e+00| aoow00| 00oesao| o000 ocesoo| o00e+o0| aooewao| 000esoo| a0z uoeson| oo0z+oo| woeaa| oonesoo| aooew| ooseson| o000 asewon| oo0e+oo| acoerao| oooeson| sooro| ousesoo| so0eoo| acoeas| oone-oo| aooco| ooseson] sooco| acoe-an| ooneioo| acoeso osoeson| oooewol asesan| soveioo

I

2 TSRO TN 00000 os0eao| o00e<o0| ook oooe-oo| oooceoo| osoesoa| oooeeoo| aooco| oooesoo| aoocool osseuon| oooteoo| asoeuso| ooneeoo| aoooo oose-on| oooceoo| woseuan| oooeeoo| asoco| ooae-on| ooocoo sseuon| oooteoo| asoco| ocne-oo| aooeco auseuon] ooot:oo| acoean| ooneeoo| aooeco ovoe-co| ocorco| aaseuan| cooeico
SRR o000 o00evao| 000e+00| 0oow00| o0oesoo| 0000 ocesoo| oo0e+o0| acoeao| o00esoo| a0 ouoeson| oo0z+oo| wcoeaa| o00esoo| aooer| ooseson| o000 wasewon| oo0e+oo| acoeao| oooeson| oo ousesoo| sooeoo| acoeas| oone-oo| aoowo ooseson] sooco| acoe-an| ooneioo| acoewo osseson| oooewol aseran| soveioo
(TSI ETOT N 00000 oseao| o0oe.oo| ooo| oooe-oo| oooceoo| osoesoa| oooeeoo| aooo| oooesoo| aoocoo osse-on| oooteoo| wsoeuso| ooneeoo| aoooo ouse-on| oooceoo| wose-on| oooeeoo| asoo| oooe-on| ooocoo oseuon| oooteoo| asoco| ocne-oo| aooeco auseuon] oootico| acoean| oooeeoo| aooeco oooe-co| ocorco| aaseuan| cooeico
STLIPIUTIN 00000 o0evao| 000e+00| 00| 00oesao| o000 ocesoo| oo0e+o0| acoewao| o00esoo| oo uoevon| oo0z+oo| wcoeaa| oonesoo| aooer| ooseson| o000 aseron| oo0e+oo| acoeao| oooeson| oo ousesoo| sooeoo| acoean| oone-oo| aooo ovseson] sooco| acoe-an| ooneioo| acoewo osseson| oooewol aseran| soveioo
(TSI o 00c-00| oseuao| o0oe-oo| oo oooeeoo| oooceoo| osoesoa| oooeeoo| aooo| oooesoo| aooccol ouseuon| oooteoo| wsoeuso| ooneeoo| aoooo ouse-on| oooceoo| woseuon| oooeeoo| asoo| oooe-on| oooeoo useuon| oooteoo| asoco| oone-oo| aooeco auseuon] oootco| aoean| ooneeoo| aooeco osoe-co| ocorco| aaseuan| cooeico
ST 00000 o0evao| o00e+o0| aoowo| o0oesao| o000 ocevoo| oo0e+o0| acoewao| 000esoo| a0 uoeson| oo0z-oo| woeaa| oonesoo| aooeroo| ooseson| o000 wasewon| oo0e+oo| acoeao| oooeson| oo ousesoo| sooeoo| acoean| oone-oo| aooo ovseson] sooco| acoe-an| ooneoo| acoeio osseson| oooewol asesan| soveioo
(TS LLETOOETE I o00c-o0| oseuao| o0oe-oo| oo oooe-oo| oooceoo| osoeuoa| oooeeoo| aooo| oooesoo| aoocool osseuon| oooteoo| asoeuso| ooneeoo| aoooo osse-on| oooceoo| woseuan| oooeeoo| asoo| ooae-on| ooocoo useuon| oooteoo| asoco| ocne-oo| aooeco auseuon] oootco| aoean| ooneeoo| aooeco oooe-co| ocorco| aaseuan| cooeico

O~

o m ST soroz| osicvoo| 2oneon| o10mw00| oooeeon| oooewo| sssevcs| 22aeos| sromas| ssee0z| ooomwo| 2s7eer| sisoo| 27seos| nazeon| 2areon| ovoeeon| ooomeo| soseae| 1aoeioo| 2see| ooneon| soveos| swiecr| smeon| ssieor| soseon| aoomco| 2zseuce| sozeos| 22seice| 2rmce| szsei| ovoeeon| ocomo oanesan| 7osean

=) &

o SURETNIN  «sico2| aseuoo| aseon| somio| oooeeon| ooocoo| szceuon| nsneos| soreos| sseros| oooewo| azseor| soreoo| 2eseos| noseon| 2aoron| oooeeon| oooeo| sereae| naseioo| wsseuce| ocoeeon| ssseos| seoeor| seeon| ssaeor| seseon| aoorio| oseuca| 2eoros| roveuce| 2asece| asseion| oooeeco| ocoro mveion| sasean
SGUENTAN soooz| oseerio| 2s1e01| asseroo| oooeeon| ooomwo saseros| 2aseos| sssmas| s3ue0z| coomwo| zereor| siaoo| zsoms| naseon| zsseon| ovoeeon| ooomwo| sosee| 1aeco| 2sme| ooneon| ssomos| svzecr| saseon| ssomor| s3en| aoomo| 2zseuce| ss0mos| 22vece| 2ace| ssrev| ovoevon| ooomo oaveran| 7asean
SGPEETNIN cocoz| soseuon| 2sar.01| 1osee0n| oooeeon| oooceoo| wsseuos| 2saros| saaeos| aseon| oooewo| asoror| ssooo| soses| 1sseeon| 2ot oooeeon| oooeo| sssee| 1sseico| aszeuce| ocoeeon| esoros| ssieor| 2oson| sraer| soreon| aoomio| 2szeuca| sareos| 2szece| surewe| sreion| oooeeco| ocorwo oaveuan| rorean
ST ooz s50mwar| ss2e01) 27e00s| oooeeon| oooewo| 2osevon| seoeos| sareas| aseor| ooomwo| ssseor| saseoo| sireos| noreon| soomon| ovoeeon| ooomeo| zoseae| 2ereoo| siewce| oooeon| sascos| ssseor| 2ozeoa| ssieor| saseon| ooomo| seresce| asmos| serence| sssece| saseion| ovoevon| ooomo avesan| 11aeoo
ST 5202 s7e.01| ssseon| aameon| oooeeon| oooceoo| 2sseuon| s77e0s| ssaros| ssseon| oooewo| ssseor| seseoo| sores| zoseon| aareon| oooeuon| oooeo| 21see| 2areioo| srseice| ovoeeon| sascos| seseor| soseon| ssore| saseon| aooewo| sraeeca| saoros| sroeece| seneice| ssecios| oooeeco| ococo aveuan| 110600
ST ooz sosevos| as0e01| soieeon| oooeeoo| oooewo| 27sevcs| asseos| suazee| szeor| ooomwo| sizeor| caoo| suseos| 2ason| soeon| ovoeeon| ooomeo| szsee| 2aoeioo| aiserce| oooeon| 7oieos| 7ooecr| saoron| ssoror| roece| aoomo| sserce| soress| ssseuae| sanece| soseie oooeson| ooomo averan| 1ueoo
SO 12701 2aseuon| ssseon| 2s7eion| oooeeon| ooocoo| sseeuon| sazeos| saoeor| 2sse0n| oooewo| aroror| soooo| ruses| saseeon| saston| oooeeon| ooocoo| ssore| seseioo| sseuce| oooeeon| soscor| asseor| eraron| woseos| 1snece| aooewo| sszeuca| rareos| sszeuce| 7aoeece| sseic| oooeeco| ocoo aveuan| 1aseico
SR vcon soievor| 7a001) saimeon| oooeeoo| oooewo| aszercs| reseos| ssreee| sseeor| ooomwo| ssmear| soreon| ssreos| azoeon| ssoeo| ovoeeon| ooomeo| sosear| asieool 770me| oooeon| sseor| sszecs| sareon| suamas| vanece| aoomo| 7roesce| 1oieas| 70ence| osiece| ssome oooeson| ooomol averan| 2aseoo

O~

=0 SIS 05| «sseor| o7aroz| ssomon| oooeeon| oooewo| 2seron| saaroo| svmos| ssreos| oooewo| -sseos| saoeao| ssreos| saseor| soseon| ovoeeon| oooeeo 210eucn| sssron| sseeeco| oooeeon| zrocos| ssseon| ssros| 2zseos| sazeon| avomo| ssseuon| assor| sseeian| soreoo| sszen| ovoeeon| ocorio aveian| 7

=

50 CIUNLRTNN 05| ssser| soreoz| ssoman| oooevon| oooeoo| 2sserao| seseos| ssieos| ssieas| ooomwo| useas| 2oseso sssean| raseoz| soreos| ovoeson| oooeoo zoveuco| sseoz| ssserco| oooeon| 2reos| sorecn| voreos| 2seos| sszeon| aoomio| ssseron| sareon| ssseian| sareol sze| ovoeson| ooorio aneran| 7o

°

2 SGUENTININ 00| «s7eon| sesron| sorcon oooeeon| oooewo| 2sercn| sesroo| soveos| ssseos| oooewo| -ssecs| sooeao ssseos| 17oroz| saoron| ovoeeon| oooewo zoseucn| sssron| ssseeco| oooeeon| zrocos| szseon| sireos| 2zseos| ssreon| aooewo| ssseeon| sareon| ssseian| soreoo| sireon| ovoeeon| ocorio aveian| 7aecin
CIIPETNIN 20| soocar| osseon| ssomon| oooeeon| oooeoo| 2oseroo| sereos| ssomas| ssseas| ooomwo| useas| seeso| sraeas| 1r1e0e] 7aseos| ovoeson| ooveoo 22seucn| sseoa| soeico| oooevon| zaseos| seiecn| sooeos| 2seos| saveon| aoomio| ssseron| 13m0 seseion| soreoo| sz ovoeson| oooeiol aneran| 7aven
ST 20| «77e01| sseoz| soomon| oooeeon| oooo| s16evon| soneoo| s12es| 375e03| oooewo| ssecs| sszeao ssreos| sazeor| 737E0n| ovoeeon| oooo 2zseucn| sssron| ssseeco| oooeeon| soeos| ssseon| soreos| 2seos| ssueon| aoomio| ssseuon| ssnon| ssseian| saseoo| sszean| ovoeeon| ocoro aveian| srzewn
LU 5005 ss6cr| 7ore02| sz6m| oooeeon| oooeoo| saseroo| osseoo| soamas| ssneas| oooewo| useas| soseso| 2oseos| 1oueoa| ssoeos| ovoeson| ooveoo 2sieicn| vsseoa| areeico| oooenon| sareos| ssoecn| ss0os 2seos| aseon| aoomio| asceron| asson| 4seeian| asneoo ssren| ovoeson| oooeio aneran| soren
ST 5505 sosen| 7aaeoz| as7e| oooeeon| oooewo| sssevon| sazeos| ssseos| si0e0s| oooewo| ssecs| eseao| zsoros| zoreor| saseonr| ovoeeon| oooewo| 270eucn| sssron| aszewco| oooeeon| sascos| soseon| nseron| 2zseos| ssseon| aoomio| 4szeeon| aoseon| ssoeian| sroeoo] asseon| ovoeeon| ocorol aveian| serin
LTI 50| s72e01| 7502 sorean oooeeon| oooeoo| suserso| sereos| 2r0mas| s7ueas| cooewo| useas| waseso| soreas| 1o7e0e| saomos| ovoeeon| ooveoo 2aseuco| sseoa| s7omco| oouevon| 2oieos| sssecn| 1iaros| 2aseos| azzeon| aoomio| sroevon| 2760 sroeian| ar2eoo| s2zen| ovoeson| oooriol aneran| sasein
SR  «rocos| «seen| 7aaroz| a0m0n| oooeeon| oooewo szoevcn| saneoo| soreos| ssieos| oooewo| -ssecs| esneao ssseos| 7ac0z| soomeo| ovoeeon| vooool 2sseucn| sssron| ssseeco| oooeeon| soscos| sorecn| ssaros| 2seos| <soron| aoomwo| ssseeon| 2meor| ssseian| sssoo| asoren| ovoeeon| ocorol aveian| sasein
TR OTNN 2002 sosez| aaoeos| as7c0z] oooeeon| o000 2osevoo| 13505 soma| 10e05| cooer| assezo| 1o ssamar| osseos| 225eico| ovoeson| ooveoo 2oserco| saseo| wasewco| oooevon| 12z 47iecn| 17703 wcoman| 721602 aoomio| sasevon| sareos| 1areian| 1300 722 ovoeson| oooeiol aneson| seoen

k)

= EGULERETNIN 00| 272c01| a156.00) sst0| oooesoo| oooceool -ssseor| 119€0s] 7aseas| -a77e09) aoocico -so1err| a2agos| sseos| -asne02) sszcon| ooeson| ooocoo 2:17esen| 201e17] 2saesoo| ooneson| 1sicoo| -2s5e0n| 7ac03) acoion| 25701 aooeico| 26seson] s sat00| sseson| 2s4e-00] 27| o0oeson| oootco] oanescn| ssacin

S

= TN o0 s17e1| ssseos| sooeon oooevon| oooeoo| ssseroo| seseon| saomas| ssseon] coosro| oteas| sae o] wsomos| aseoz] sa2e| ovoeeon| oovero| seres| 1o7er| 2smco| oooeson| 2o 20seon| saseos| ocoran| 23ue0r| aoomio| 2aseson| 1zseos| 2sveian| siseoo| 2saen ovoeson| oooriol aneran| 2roein
SRR 2 vcos| s7oeor| aseor| ssomon| oooeeon| oooewo| 2sseuon| seseoo| soms| ssse0s| oooewo| -asaera| saseao| srieos| aseoz| 70mn| ovoeeon| oooool 220eucn| as7ear| ssseeco| oooeeon| zaseos| ssseon| sssros| avoruco| sareor| avomio| ssseucn| sroeor| ssseean| soseoo| sameen| ovoeeon| ocorol aveian| 7asin
NI 720 so6m01| 171601 16000 oooeeon| oooeoo| ssaen| 1saros| sareon| 210e05| cooero| 100m17| 31900 2a7e00| o502 2ot ovoeson| ooveeoo 2 75euc0| 200e7| 2s2eco| ooueson| 7o 2s5ecn| 13503 ooean| 15001 aooeio| 2azevon| 535t 2szenan| 297200 1508 o0oeson| ocoeol aneren| 77
ST 2ovcos| soseon| 1sseor| s7azon| oooeeon| oooeoo szseuon| 2eseos| somos| ssoeos| oooewo| -assers| 2eseao sres| roseoz| saoron| ovoeeon| ooooo 2areucn| rsser| sseeico| ooneeon| saoeos| 1sseon| seseos avoeico| easeon| aoomio| saseucn| sereor| sseeian| sareoo] wasen| ovoeeon| ocorio oaveian| sezn
AT 500 217e01| 13se0z| 23| oooeeon| oooeoo| sssevoo| siaeoo| s70ms| 221605| cooro| useas| 2oseso 2zveos| zie0e] saseon| ovoeion| ooveool 2arenco| 1s7er| sszeco| oonevon| 2rseos| sosecn| roreos| ocomao| ssseor| aoomo| sszevcn| aseon| sszean| seneoo| sz oooeson| oooeio anesan| saven
SR 7102 1o7e1| 273600) 150201 oooeeon| oo0eoo| 7sseucn| 37409 15720| 202802 oo -100817| csaon| «sazr| 2a0e02] sa52e00| ovoeeon| ooozeoo| 17eucn| 109817 10mc0| o0neeon| sorcos| assecn| s7ar0a| woeeco| ssue01| aooeio 1 soeeon| 1080 -150e.an| 2132:00| 532201 0voeecn| ocoeo| aveian| 272ecr
CGUENEEIIN e oz s oie2| 24ae05) 53922 oooeeon| oo0eoo| a7ievoo| 122605 16m0| 215202| coor| assezn| 500 ssomar| 14se03) s20m00| o0oeson| oo0zeoo| ssseroo| so0e-o| 125mc0| oonevon| 5226 10] 710208| 21605 wcomco| s2se01| aooeio| 2 20evon| 1228 2 208.0n| 1922+00| 522 o0oeson| w00 aneron| soneor

PEP ecopassport 5/5 HAGE-01350-V01.01-EN



